EXHIBIT H

FILED: NEW YORK COUNTY CLERK 12/02/2021 03:52 PM

NYSCEF DOC. NO. 829

SCHEDULE 1

In re New WEI, Inc., *et al.* Compensation by professional for the period July 15, 2015 through February 21, 2017¹

Name of Professional Person	Position of the Applicant, Number of Years in that Position, Prior Relevant Experience, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (\$) ²	Total Billed Hours	Total Compensation (\$)
Allan J. Arffa	Partner since 1989. Joined firm as a litigation associate in 1981. Member of the NY Bar since 1982.	1395.00	448.2	581,994.50
Kelley A. Cornish	Partner since 2003. Joined firm as a bankruptcy partner in 2003. Member of the NY Bar since 1984.	1395.00	1527.1	1,982,319.50
	Partner since 1991. Joined firm as a bankruptcy partner in 1991. Member of the NY Bar since 1983.	1395.00	765.3	993,062.75
Thomas V. de la Bastide	Partner since 2006. Joined firm as a financing associate in 1998. Member of the NY Bar since 1997.	1320.00	31.4	37,005.00
Ariel J. Deckelbaum	Partner since 2007. Joined firm as a M&A associate in 1998. Member of the NY Bar since 1999.	1295.00	140.0	160,928.50
Alice B. Eaton	Partner since 2009. Joined firm as bankruptcy counsel in 2008. Member of the NY Bar since 2000.	1395.00	0.5	575.00

¹ From time to time, Paul, Weiss agreed to voluntarily reduce its fees in response to periodic reports by the Fee Examiner. These voluntary reductions were reflected in orders approving monthly and/or interim fee applications (and thus reflected in the payments that Paul, Weiss actually collected). However, Paul, Weiss did *not* remove the diary entries relating to the voluntary reductions from its system, so the numbers contained in this Schedule 1 may reflect fees that Paul, Weiss wrote off during the Chapter 11 Cases.

² As is customary, Paul, Weiss revised its hourly rates on October 1st in both 2016 and 2015 at the start of the Firm's fiscal year. The rates in this table reflect the *current* rates, but the firm used its previous hourly rates for the work performed during the periods of July 15, 2015 through September 30, 2015 and October 1, 2015 through September 30, 2016, and, therefore, the total compensation attributed to any given professional may not equal the number of hours billed multiplied by the hourly billing rate displayed in this Schedule 1.

Name of Professional Person	Position of the Applicant, Number of Years in that Position, Prior Relevant Experience, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (\$) ²	Total Billed Hours	Total Compensation (\$)
Leslie G. Fagen	Partner since 1982. Joined firm as a litigation associate in 1976. Member of the NY Bar since 1975.	1395.00	36.7	47,947.50
Robert C. Fleder	Partner since 1986. Joined firm as an employee benefits partner in 1986. Member of the NY Bar since 1977.	1395.00	84.1	109,625.50
Andrew G. Gordon	Partner since 2004. Joined the firm as a litigation associate in 2000. Member of the NY Bar since 1995.	1370.00	9.7	11,782.50
Gaines Gwathmey III	Partner since 1989. Joined firm as an environmental partner in 1989. Member of the NY Bar since 1974.	1395.00	37.1	48,160.50
David Huntington	Partner since 2010. Joined firm as a securities associate in 2007. Member of the NY Bar since 1997.	1220.00	71.1	80,470.00
Stephen Lamb	Partner since 2009. Joined firm as a litigation partner in 2009. Member of the DE Bar since 1982.	1330.00	4.2	5586.00
Daniel J. Leffell	Partner since 1992. Joined firm as a litigation associate in 1987. Member of the NY Bar since 1983.	1395.00	106.6	136,671.50
Claudine Meredith- Goujon	Partner since 2016. Joined firm as an intellectual property associate in 2000. Member of the NY Bar since 1999.	1070.00	1.9	1843.50
Toby S. Myerson	Partner since 1983. Joined firm as a corporate partner in 1983. Member of the NY Bar since 1977.	1395.00	62.0	81,640.50
Scott Sontag	Partner since 2014. Joined firm as a tax partner in 2014. Member of the NY Bar since 1998.	1295.00	127.5	151,021.50

Name of Professional Person	Position of the Applicant, Number of Years in that Position, Prior Relevant Experience, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (\$) ²	Total Billed Hours	Total Compensation (\$)
Reuven Falik	Counsel since 2013. Joined firm as an employee benefits associate in 2005. Member of the NY Bar since 2004.	945.00	1.1	1039.50
Bruce Gruder	Counsel since 1999. Joined firm as a financing associate in 1990. Member of the NY Bar since 1991.	1040.00	45.8	42,545.00
Marta P. Kelly	Counsel since 2013. Joined firm as corporate counsel in 2007. Member of the NY Bar since 2000.	945.00	3.4	3213.00
Robert N. Kravitz	Counsel since 1997. Joined firm as a litigation associate in 1989. Member of the NY Bar since 1989.	1040.00	541.4	510,380.50
Didier Malaquin	Counsel since 2000. Joined the firm as a corporate staff attorney in 1985. Member of the NY Bar since 1984.	1040.00	27.0	26,082.00
Diane Meyers	Counsel since 1999. Joined firm as a bankruptcy associate in 1997. Member of the NY Bar since 1992.	1040.00	1027.0	973,055.00
Lauren Shumejda	Counsel since 2017. Joined firm as a bankruptcy associate in 2010. Member of the NY Bar since 2008.	1040.00	136.2	117,589.50
Claudia Tobler	Counsel since 2009. Joined firm as a bankruptcy associate in 2001. Member of the NY Bar since 2002.	1040.00	1194.2	1,131,000.00
Romica Singh	Joined firm as an employee benefits associate in 2010. No longer works at firm.	900.00	104.4	92,142.00
Uri Horowitz	Joined firm as an M&A associate in 2013. Member of the NY Bar since 2008.	900.00	104.0	91,792.50

Name of Professional Person	Position of the Applicant, Number of Years in that Position, Prior Relevant Experience, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (\$) ²	Total Billed Hours	Total Compensation (\$)
Chaim Theil	Joined firm as a M&A associate in 2013. Member of the NY Bar since 2008.	935.00	1212.2	1,010,070.50
Kevin Manz	Joined firm as a securities associate in 2012. Member of the NY Bar since 2010. No longer works at firm.	910.00	84.1	68,701.00
Lauren Yuan	Joined firm as a financing associate in 2014. Member of the NY Bar since 2010.	805.00	7.5	5400.00
Evan A. Kubota	Joined firm as a litigation associate in 2010. Member of the NY Bar since 2011.	910.00	2.9	2204.00
Pietro J. Signoracci	Joined firm as a litigation associate in 2010. Member of the NY Bar since 2011.	910.00	23.0	19,205.00
Holly A. Vanderslui	sJoined firm as a litigation associate in 2010. Member of the NY Bar since 2011.	910.00	0.5	380.00
Ann K. Young	Joined firm as a bankruptcy associate in 2010. Member of the NY Bar since 2011.	910.00	1104.1	875,809.75
Scott A. McKinney	Joined firm as an intellectual property associate in 2011. Member of the NY Bar since 2012.	805.00	5.2	4007.50
Justin Shuler	Joined firm as a corporate associate in 2012. Member of the NY Bar since 2012.	765.00	15.0	11,475.00
Ramzi Takla	Joined firm as an M&A associate in 2012. Member of the NY Bar since 2012.	850.00	1176.9	872,871.50
Shawn Fetty	Joined firm as a real estate associate in 2014. Member of the NY Bar since 2013.	850.00	2.4	1584.00
Rodney Hill	Joined firm as a tax associate in 2012. Member of the NY Bar since 2013.	850.00	2.8	1848.00

Name of Professional Person	Position of the Applicant, Number of Years in that Position, Prior Relevant Experience, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (\$) ²	Total Billed Hours	Total Compensation (\$)
Thomas E. Holber	Joined firm as a financing associate in 2012. Member of the NY Bar since 2013.	850.00	28.5	19,576.50
Elana M. Jacob	Joined firm as a corporate associate in 2012. Member of the NY Bar since 2013.	660.00	57.3	37,818.00
Craig Olshan	Joined firm as an employee benefits associate in 2014. Member of the NY Bar since 2013.	850.00	149.1	104,317.50
Katriana G. Roh	Joined the firm as a litigation associate in 2011. Member of the NY Bar since 2013.	720.00	18.1	13,032.00
Michael S. Rudnick	Joined firm as a bankruptcy associate in 2010. Member of the NY Bar since 2013.	910.00	891.7	697,323.00
Virginia F. Mann	Joined firm as a corporate associate in 2012. Member of the NY Bar since 2014.	765.00	5.5	4207.50
H. Bola George	Joined firm as a litigation associate in 2013. Member of the NY Bar since 2014.	820.00	104.1	66,963.00
Peter S. Borock	Joined firm as a real estate associate in 2014. Member of the NY Bar since 2015.	740.00	12.7	6763.00
Jared R. Kasner	Joined firm as a bankruptcy associate in 2014. No longer works at firm.	740.00	446.7	253,568.00
Yuu Kinoshita	Joined firm as a corporate associate in 2014. Member of the NY Bar since 2015.	740.00	619.4	376,625.00
Moshe Segal	Joined firm as a corporate associate in 2014. Member of the NY Bar since 2015.	620.00	15.7	9734.00
Daniel A. Youngblut	Joined firm as a bankruptcy associate in 2014. Member of the NY Bar since 2015.	820.00	1116.3	738,825.00
Haiyun Zhao	Joined firm as a tax associate in 2014. Member of the NY Bar since 2015.	740.00	116.7	67,008.00

Name of Professional	Position of the Applicant, Number of Years in that	Hourly Billing Rate	Total Billed	Total Compensation
Person	Position, Prior	$(\$)^2$	Hours	(\$)
	Relevant Experience, Year	(*)		(*)
	of Obtaining License to			
	Practice, Area of Expertise			
R. Victoria	Joined firm as a litigation			
Gilcrease-Garcia	associate in 2015. No longer	540.00	27.3	14,742.00
	works at firm.	410.00	27.5	15.275.00
Thomas Grunfeld	Staff Attorney	410.00	37.5	,
Priscilla Abraham	Discovery Services	295.00	7.3	
David Cederquist	E-Discovery Manager	315.00	121.7	,
Jessica Fopiano	Discovery Services Specialist	295.00	5.1	1504.50
Christopher Ho	Discovery Services	315.00	7.7	2281.50
Michael Johnson	Discovery Services	305.00	5.6	
Tracy Jones	Discovery Services	295.00	9.6	2832.00
Frank Oliveras	Discovery Services	305.00	20.8	6344.00
Brandon M. Scott	Discovery Services	315.00	19.5	5812.50
Muhammad Z. Shafi	Discovery Services	315.00	18.5	5457.00
Jorge Velazquez	Discovery Services	315.00	5.8	1719.00
Kathleen McCartin	Senior Research Analyst	265.00	0.4	106.00
Ann M. Simpson	Librarian and Legal Support	350.00	0.2	70.00
Nova Alindogan	Paralegal	335.00	4.6	1541.00
Timothy Carney	Paralegal	315.00	1.0	315.00
Ronald Conliffe	Paralegal	315.00	10.2	3213.00
Deanna DeFilippis	Paralegal	265.00	6.5	
Brooke Filler	Paralegal	335.00	208.9	64,477.50
Carl Holstrom	Paralegal	265.00	46.4	
Katherine Lynn	Paralegal	285.00	52.9	
Joseph Monzione	Paralegal	335.00	88.1	26,881.50
Aisha Rajput	Paralegal	265.00	26.0	
Yvonne Telesford	Paralegal	335.00	82.6	
Grand Total: 14,670.5				
Blended Rate:				\$882.13
Attorney Grand Total:				\$12,703,532.00
Attorney Blended Rate:				\$915.00

FILED: NEW YORK COUNTY CLERK 12/02/2021 03:52 PM

NYSCEF DOC. NO. 829

SCHEDULE 2

In re New WEI, Inc., *et al.* Compensation by project for the period July 15, 2015 through February 21, 2017.³

COMPENSATION BY PROJECT CATEGORY

Project Category	Total Hours	Total Fees (\$)
Case Administration (701)	2085.4	1,824,550.00
Asset Analysis and Recovery (702)	14.2	12,205.00
Asset Disposition (703)	573.7	438,586.00
Relief from Stay Proceedings (704)	13.9	11,061.00
Fee/Employment Applications (705)	496.7	329,939.50
Fee/Employment Objections (706)	31.7	21,629.50
Employee Benefits/Pensions (709)	689.8	650,389.50
Financing (710)	262.2	242,759.00
Tax Issues (711)	693.3	678,751.50
Labor and Union Matters (712)	829.6	750,961.00
Claims Administration and Objections (713)	30.3	22,718.50
Plan and Disclosure Statement (714)	379.3	308,457.50
Litigation (715)	3090.0	2,797,009.00
Other (Explain) (718)	2.4	1395.00
Travel Time (719)	332.2	245,477.00
Court Hearings (720)	275.9	279,352.50
Cash Collateral/Exit Financing (721)	315.2	305,960.00
Lease/Executory Contract Issues (722)	106.3	94,016.50

³ From time to time, Paul, Weiss agreed to voluntarily reduce its fees in response to periodic reports by the Fee Examiner. These voluntary reductions were reflected in orders approving monthly and/or interim fee applications (and thus reflected in the payments that Paul, Weiss actually collected). However, Paul, Weiss did *not* remove the diary entries relating to the voluntary reductions from its system, so the numbers contained in Schedule 2 reflect fees that Paul, Weiss voluntarily wrote off during the Chapter 11 Cases. As a result, the numbers in Schedule 2 reflect the amount of time billed on interim and monthly fee applications.

FILED: NEW YORK COUNTY CLERK 12/02/2021 03:52 PM

Project Category	Total Hours	Total Fees (\$)
Sale Transaction (723)	4531.8	3,912,720.50
Creditor Inquiries (724)	18.6	14,406.50
TOTAL	14,772.5	\$12,942,345.00